
 

8.  horizontal shrink by 2 and phase shift to the right 
𝜋

4
 

     

 

 

 

 



9.  vertical stretch by 3, horizontal shrink by 3, phase shift to the left 
𝜋

3
 and vertical shift down 5 

     

 

10.  reflects over the x-axis, horizontal shrink by 2 and phase shift to the right 
𝜋

6
 

      

 

11.  reflects over the x-axis, vertical stretch by 2, horizontal shrink by 3 and vertical shift up 4 

     

 

12.    D: 𝑥 ≠
𝜋

2
+ 𝜋𝑛 

       R:  (−∞, ∞) 

    Per:  𝜋 

Asymptotes:  𝑥 =
𝜋

2
+ 𝜋𝑛 

 



13.  D: 𝑥 ≠
𝜋

4
𝑛 

       R:  (−∞, −2]  [2, ∞) 

    Per: 
𝜋

2
 

Asymptotes:  𝑥 =
𝜋

4
𝑛 

 

14.  D: 𝑥 ≠
𝜋

8
+

𝜋

4
𝑛 

       R:  (−∞, −1]  [1, ∞) 

    Per:  
𝜋

2
 

Asymptotes:  𝑥 =
𝜋

8
+

𝜋

4
𝑛 

 

15.  D: 𝑥 ≠
𝜋

3
𝑛 

       R:  (−∞, ∞) 

    Per:  
𝜋

3
 

Asymptotes:  𝑥 =
𝜋

3
𝑛 

 

16.  D: 𝑥 ≠ 4𝜋𝑛 

       R:  (−∞, ∞) 

    Per:  4𝜋 

Asymptotes:  𝑥 = 4𝜋𝑛 

     17.        18. 

 

      

 



19. 

  

20. 

  

21.   

 

22. 

 

23. 

 

24. 

 

 

25.  𝜃 = 23.20° 

 

26.  𝜃 = 10.62° 

 

27.  6.43 feet 

 

28.  8.46 cm 

 

29.  19.85 miles 

 

30.  First sighting  22.24 km 

      Second sighting  26.82 km 

 

31. 

 



32. 

 

33. 

 

 

 

 

 

 

 


